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QUESTION 1

Your network contains an Active Directory forest named contoso.com. The forest contains five domains. You need to
ensure that the CountryCode attribute is replicated to the global catalog. 

What should you do? 

A. Modify the schema partition. 

B. Create and modify an application partition. 

C. Modify the configuration partition. 

D. Modify the domain partitions. 

Correct Answer: A 

Directory Partition Subtrees 

Every domain controller contains the following three directory partitions: 

*

 Schema Contains the Schema container, which stores class and attribute definitions for all existing and possible Active
Directory objects in cn=schema,cn=configuration,dc= forestRootDomain . Updates to this container are replicated to all
domain controllers in the forest. You can view the contents of the Schema container in the Active Directory Schema
console. 

*

 Configuration 

*

 Domain 

 

QUESTION 2

You are configuring a network for a company that has multiple buildings in a campus layout. The network consists of a
Windows Server 2012 Active Directory Domain Services (AD DS) domain. A single datacenter hosts most of the
company\\'s servers. You are deploying client computers to 8 new buildings. Each building will have a separate subnet.
A router in each building will connect each subnet to the datacenter. You want to manage IP address deployment from a
single highly available DHCP server in the datacenter. Your solution must minimize costs. 

How should you configure the infrastructure? (Choose two.) 

A. Install a server in each building that runs the Routing and Remote Access Service. Configure a DHCP Relay Agent
on the servers. 

B. Configure the routers to forward DHCP requests to the datacenter DHCP server. 

C. Install a server running the DHCP Server role in each building. Configure the DHCP server to forward DHCP
requests to the datacenter DHCP server. 
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D. Configure a single DHCP scope. E. Configure a separate DHCP scope for each building. 

Correct Answer: B 

 

QUESTION 3

You need to recommend a solution for the remote access servers. What should you include in the recommendation? 

A. Network address translation (NAT) 

B. Logging levels 

C. Packet filtering 

D. Packet tracing 

Correct Answer: A 

*

 Scenario: The remote access servers must be able to restrict outgoing traffic based on IP addresses. 

*

 Network address translation (NAT) allows you to share a connection to the public Internet through a single interface
with a single public IP address. The computers on the private network use private, non-routable addresses. NAT maps
the private addresses to the public address. 

 

QUESTION 4

Your network contains an Active Directory domain named contoso.com. The domain contains three VLANs. The VLANs
are configured as shown in the following table. 

All client computers run either Windows 7 or Windows 8. 

The corporate security policy states that all of the client computers must have the latest security updates installed. 

You need to implement a solution to ensure that only the client computers that have all of the required security updates
installed can connect to VLAN 1. The solution must ensure that all other client computers connect to VLAN 3. 

Which Network Access Protection (NAP) enforcement method should you implement? 

A. VPN 
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B. DHCP 

C. IPsec 

D. 802.1x 

Correct Answer: D 

The most common method of the list is 802.1x for a variety of reasons. First, the industry has been selling 802.1x
network authentication for the last 10 years. 1x gained tremendous popularity as wireless networking became prevalent
in the late 90\\'s and early 2000\\'s and has been proven to be a viable solution to identifying assets and users on your
network. For customers that have invested in 802.1x capable switches and access points, NAP can very easily be
implemented to complement what is already in place. The Network Policy Server (NPS) role Windows Server 2008 has
been dramatically improved to make 802.1x policy creation much simpler to do. 

 

QUESTION 5

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

Your network contains 50 servers that run Windows Server 2008 Service Pack 2 (SP2) and 50 servers that run
Windows Server 2008 R2. 

You plan to implement Windows Server 2012 R2. 

You need to create a report that includes the following information: 

1. 

The servers that run applications and services that can be moved to Windows Server 2012 R2 

2. 

The servers that have hardware that can run Windows Server 2012 R2 

3. 

The servers that are suitable to be converted to virtual machines hosted on Hyper-V hosts that run Windows Server
2012 R2 Solution: You install Windows Server 2012 R2 on a new server, and then you run Microsoft Deployment Toolkit
(MDT) 2012. Does this meet the goal? 

A. Yes 

B. No 

Correct Answer: B 

Microsoft Deployment Toolkit (MDT) 2013 allows you to automate the deployment of computers in your organization, but
it does not include reporting. 
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